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Deadline

Your assignment must be uploaded / submitted before or on November 16, 2011


Upload Instructions

Please view the assignment submission process document provided to you by the

Virtual University of Pakistan.
Rules for Marking

Please note that your assignment will not be graded if:

• It is submitted after due date.
• The file you uploaded does not open.
• The file you uploaded is copied from someone else or from internet.
• It is in some format other than .doc

Objective

The assignment has been designed to develop the understanding about the concept of LAN technologies.

Note: Material that is an exact copy from handouts or internet would be graded

zero marks. Your solution should consist of the material found through different sources and written in your own words.

Assignment Statements:
Q1. XYZ is an organization and its network engineer wants to connect two segments with in a building, which device will be used for connectivity? What major tasks will perform this device in this scenario?

                                                                                                  (10 Marks)
Solution:

IT officer will use bridge to connect two segments with in a building. Bridge is used to connect two different segments or local area networks. Bridge performs different major tasks such as frame filtering. It reduces the amount of traffic on a LAN by dividing into segments. Bridge operates at data link layer. Bridge is an intelligent device and decide the incoming and outgoing frames whether to forward or discard them. Mostly Bridges are self learning bridges, when traffic arrives to a bridge; it extracts MAC address and adds it in the list for that segment. By this method bridges can build up address lists for all segments.
Q2. ABC organization is using five switches in its network. They are providing video streaming in different countries, for this they have redundant links for a backup solution. Which algorithm will be used to avoid loops among all switches in this scenario? Describe functionality of that algorithm in few lines.

                                                                                                   (10 Marks)
Solution:

Network engineer will use Distributed spanning tree algorithm in this scenario. This algorithm will decide which switch will not forward frames if cycle occurs. The main function of this algorithm is to prevent looping and broadcasting in a LAN. The Spanning Tree Protocol (STP) allows redundant links in a network to prevent complete network failure if an active link fails. The Spanning-Tree Protocol constructs a topology that has one path for reaching every network node. Redundant links that are not part of the shortest path tree are blocked.
